KOMRIEKCHAsL NPOBOOUMOCTb. nb 1

1 1 1
Pl ot [Abs [ + + ]. {w 0, 6000000} ]

. -3 1
6000 ixwWx1l. 22 %10 15+m

0.08 |

0.06 I

0. 04

0.02

- G aphi cs -



KOMRIEKCHASL NPOBOOUMOCTb. nb 2

1 1 1
Pl ot [Arg] + + ]. {w, 0, 20000000}]

6000 ds+wx1.22%103 154 — L

dxwsxl, 36%10-8
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- G aphi cs -



KOMRIEKCHASL NPOBOOUMOCTb. nb 3

- G aphi cs -
1 1 1
Pl ot [Re| + + ]. {w 0, 40000000} ]
6000  iswx1.22%10° 154+ —3Lf
ixwsl. 36%10-8
Syntax::noinfo : | nput expression contains insufficient information to interpret result. More...
- G aphi cs -
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KOMRIEKCHASL NPOBOOUMOCTb. nb 4

- G aphi cs -
1 1 1
Pl ot [I m[ + + ]. {w 0, 40000000} ]
6000  iswx1.22%10° 154 —L1
ixWsl. 36%10-8
Syntax::noinfo : |nput expression contains insufficient information to interpret result. More...
- Graphics -
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KOMRIEKCHAsL NPOBOOUMOCTb. nb

1 1 !
tt = {Abs[Im| + * ik
6000  iawx1.224107 15+ L

— 1k

dxwxl. 36%10-8

1 1 1
+ +
6000 ixwx1l.22%10% 154

Re|

pp = Pl ot [Eval uate[tt], {w, 0, 15000000}1;

0.08 |-

0.06 |-

0.04 |-

0.02




KOMRIEKCHASL NPOBOOUMOCTb. nb

1 1 1
tt = {Abs[Im[ . — + - e
6000 IxWx1l. 22 %10 15+m
1 1 1
Re[ + + ]},
6000 dsxwxl.22%10°3 15, E

dxwxl. 36%10-8

pp = Pl ot [Eval uate[tt], {w, 100000, 500000}1;
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Export::nodir : Directory C\Docunents and Settings\-N MES|I S-\Mon noxymenTsl does not exi st. More...



